
RSWR-12U001/ 15U001/  20U001

Wall Mount Open Frame Rack Series



    

  

RSWR-12U001/ 15U001/  20U001Wall Mount Open Frame Rack

Section 1: Parts ldentification

Tips: Check the quantities of the items before assembly



    Wall Mount Open Frame Rack RSWR-12U001/ 15U001/  20U001

Section 2: Rack Assembly

2.1 Install the left and right frames

Use M6 phillips head screw to connect top & bottom horizontal beams to 
the vertical rails.(There are two frames, left and right)

2.2 Install front bracket to the frame

Use M6 phillips head screw and M6 flange nut



    Wall Mount Open Frame Rack RSWR-12U001/ 15U001/  20U001

2.3 Install rear mounting bracket 

Use M6 phillips head screw and M6 flange nut

2.4 Install the leveling feet



RSWR-12U001/ 15U001/  20U001

2.5 Install to the wall
use 4pcs M6*60 Expansion anchor bolt to the wall

Wall Mount Open Frame Rack RSWR-12U001/ 15U001/  20U001


